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B. Com. (Part I) EXAMINATION, 2021

(New Course)
(Group—II)
Paper First
BUSINESS MATHEMATICS

Time : Three Hours ] [ Maximum Marks : "7 5
dle Wi Ul g $ SR AN IS 3o 9 U U Bd
AT AR & | Tl & 3fd W B

Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
3PE—1
(UNIT—1)
1. (@) IONH R x Ty B A T DI :
15x+17y =183

25x+13y =213

P.T.O.
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Find the value of x and y by cross multiplication
method :
15x+17y =183
25x+13y =213
< e B AT BT A T 105 SRR 2| G e
qAT BICT AT BT =R 13 | G A1 B |

Three times the sum of two numbers is 105. The
difference of greater and the smaller number is 13.

Find the numbers.
qdr
(Or)
ffeiRad YT W 99T & T O 9 8d
DI :
R BEL ﬂﬁﬁl‘(’ :
Z=x% +1.5%,
STqfd
2% + 2%, <16
X + 2%, <12
4% +2x%, <28

X, X =0.
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Solve the following linear programming problem by

graphic method :
Maximize :

Z=X +1.5%,
Such that :

2% + 2%y <16

X + 2%, <12

4% +2%, <28
X, X9 =0.

FPIE—2
(UNIT—2)
2. (@) xyz @ w I AE A3y, AT

{ X+4 x+y+6}_{3x Sy}

z+w-1 2w+3 3z 3w
Find x,y,z and w, if :

X+4 x+y+6| [3x 3y
z+w-1 2w+3 | [3z 3w

@) WRE D T QARG B g DN

1 3 -2
-5
2 5 1

P.T.O.
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Solve the determinant by Sarrus’ rule :

-2
5.
1

ey
(Or)

(@) 3T log2=0.3010 &, @I :

log 312826326
T M 9783 |

If log2=0.3010, find the value of :

log $1284/2-63/26 .
(@) T AR B G | W DI :

1
1

(4.10)3 x (3.2)2
Simplify using log tables :
1

=
(4.10)% x (3.2)2
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SHE—3

(UNIT—3)

(@) P AR 7 &1 AR G B T 10,000 SER fordT| U

& foly AR S B R 8% dified T A & fory
6% dIeh oY | U 99 & foly IT qel T 720 <1l f3AT|
T% & W o T e I Y |

A businessman borrowed from two moneylenders a
sum of ¥ 10,000. For one loan the rate of simple
interest was 8% per annum and that for the other was
6% per annum. He paid a total interest of ¥ 720 for one

year. Find the sum borrowed on each rate of interest by
him.

7B 99 aIffe amafy @ R R o mr | wga
Iy &1 A T 125 AR TR Y H AN T 130 8,
fAfrfTT &= To =T B R Fd BRI

A sum of money was invested at compound interest
added annually. After end of first year the interest was
T 125 and the end of second year it was ¥ 130. Find the

sum invested and rate of percent.

P.T.O.
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SNEH

(Or)
AT S o 3SA H AW B T 9% Ry Faq
wYU ¥ GARTT @ 9 €1 18 99 918 T 78,000 U R
& forg SRR a1 wfcay fore o) fafsRamT v =y ?
The rate of interest in Central Bank of India is 9%
p. a. compounded continuously. What should be

invested per year by Anshita to get ¥ 78,000 at the end
of 18 years ?

10% Tshglg TS &I & F T 2,310, 2 a4 H QT H
& forv fooal aiffep foea <= ey ?

What annual instalment will discharge a debt of

¥ 2,310 due in 2 years at 10% compound interest ?
g §—4

(UNIT—4)

QA A @ affs I 8 5 T U W 7 AR
5:3 % U H I R & | IS SAD g T 24,000
AT T 20,000 TG BT, T SIH! AT AT |

Two persons have their annual incomes in the ratio of
8 : 5 and their spendings in the ratio of 5 : 3. If they
save ¥ 24,000 and ¥ 20,000 per annum, find their

incomes.
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@ 3T 24 AR UARA 7 99C PR Wad T TR DI
18 a7 # @i Fad g, @ fbdw woi 9 @v¢ yfafed

PR IS Ugell @5 H G @l dI 16 o § @i 7 ?

If 24 labour can dig a trench in 18 days by per 7 hours

working per day, how many labour required to digging

just double pit in 16 days by 9 hours working per day ?

JIdT
(Or)
@) freifed onghy 4o W ol ST AR -
af gt

0—5 5
5—10 10
10—15 14
15—20 20
20—25 35
25—30 15
30—35 1

P.T.O.
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From the following frequency distribution, calculate

average :
Class Frequency
0—5 5
5—10 10
10—15 14
15—20 20
20—25 35
25—30 15
30—35 1

AfEell HETdene, SR & B TY H JeUel Ue §g a
SRGaR 9| 20% BERI F A TE STl dUl 100 A
day AIvd fed | afe foorl SRleaR da wal
50% U] 350 Wl A Sfir &, O Gdd garl @ fid

HA 9dTey |

There were two candidates for the presidentship in a
Students Union election of Mahila Mahavidyalaya,
Raipur. 20% students did not cast their vote and
100 votes were declared invalid. If the winning
candidate secures 50% of the total votes and win by

350 votes, find the votes polled to each of them.
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EERE

(UNIT—5)
T 30,000 B 9T W fagar 7 T 2,600 HHEE 3T
fBar| 9@ A W ITBT FHIE 10% T SUR {9t

W 5% 7| S9d! Fhg 9! fovaw T @ off ?

On the sale of ¥ 30,000, the salesman earned a
commission of ¥ 2,600. His commission was 10% on
cash sales and 5% on credit sales. How much was his

cash sales ?

T Hel dlel 7 HB HR T 360 B o b BAE A WS
3R SET Y I B HR T 360 b oM & foAE W
GG | I I WA 3 7 @ [ & foHd § d9aR
% 5 @I B SO/l | aTey b I8 gt fobe v e
g ?

A fruitseller purchased some oranges at the rate of two
oranges for ¥ 3.60 and the same number of oranges at
the rate of three oranges for ¥ 3.60. He sold them at the

rate of 5 oranges for ¥ 7 bearing a loss of ¥ 5. How

many oranges did he purchase ?

P.T.O.
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3rer
(Or)
ffoRaq oRaes W &1 SR-uf¥em & fafy g
el DIV
D E F G 11%
A 11 13 17 14 250
B 16 18 14 10 300
C 21 24 13 10 400
HAT 200 225 275 250 950

Solve the following transportation problem by North-
West corner method :

D E F G Supply

A 11 13 17 14 250
16 18 14 10 300
C 21 24 13 10 400

Demand | 200 225 275 250 950
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